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3.DShasta Hills, a winery in northern California, manufactures a premium cabernet and sells primarily to
distributors. Wine is sold in cases of one dozen bottles. In the year ended December 31, 2007, DShasta Hills
sold 242,400 cases at an average selling price of $94 per case. The following additional data are for Shasta
Hills for the same year (assume constant unit costs and no price, spending, or efficiency, or
- production-volume variances):
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Beginning inventory, January 1, 2007 32,600 cases

Ending inventory, December 31, 2007 24,800 cases

Fixed manufacturing costs $3,753,600

Fixed operating costs $6,568,800

Variable costs -
Direct materials

Grapes $16 per case
Bottles, corks, and crates $10 per case
Direct labor
Bottling $6 per case
Winemaking $14 per case
Aging $2 per case
Required
1. Find the breakeven point (number of cases) in 2007 under absorption cosling. 10%

2. Grape costs are expected to increase 25% in 2008. Assuming all other data are the same, calculate the
minimum number of cases Shasta Hills must sell in 2008 to break even
a. under variable costing 5%
b. under absorption costing 5%

4.DYves Parfum Company blends and sells designer fragrances, It has a Men’s Fragrances Division and a
Women’s Fragrances Division, each with different sales strategies, distribution channels, and product
offerings. DYves is now considering the sale of a bundled product consisting of a men’s cologne and a
women'’s perfume. For the most recent year, Yves reported the following: :

" Product Retail Price ‘

Monaco (men’s cologne) $80
3\ Innocence (women'’s perfume) 120
4. 1" Amour (Monaco + Innocence) 180
Required
1. Allocate revenue from the sale of each unit of I” Amour to Monaco and Innocence using:
a. The incremental revenue-allocation method, with Innocence ranked as the primary product 5%
b. The Shapely value method, assuming equal unit sales of Monaco and Innocence. 5%

2. Further assume units sold of Monaco and Innocence in the most recent year are:

Monaco 30,000 units
Innocence 10,000 units

[’ Amour’s managers believe that, because Monaco sells three times as many units as Innocence, L’ Amour’s
sales are three times more likely to be driven by Monaco as the primary product. Allocate revenues from the
sales of L’ Amour to Monaco and Innocence using the weighted Shapely value method. 10%

5.The DEnergex Company produces a gasoline additive, Gas Gain, that increases engine efficiency and
improves gasoline mileage. The actual and budgeted quantities and the budgeted prices in August 2007 of the
two petroleum products required to produce 50,000 gallons of Gas Gain are as follows:

Actual  Budgeted
: Quantity  Quanfity  Price
Chemical  (gallons)  (gallons) (per gallon)

géfed

Protex 16,200 20,800 $0.40
“#+ Benz 37,800 31,200 $0.25 o
Required ,
1. Calculate the total direct materials efficiency variance for August 2007, 5%
2. Calculate the total direct materials mix and yield variances for August 2007, ) 10%

h . ; .
3. What conclusions can you draw from the variance analysis? 10%




